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QUESTION 1

You are deploying an 802.1X solution and must determine what would happen if clients are unable to re-authenticate to
the RADIUS server.

In this scenario, which configuration would provide access to the network if the supplicant is alreadyauthenticated?
A. move

B. permit

C. deny

D. sustain

Correct Answer: D

QUESTION 2
Referring to the exhibit, ServerA sends a single IP packet destined to 10.0.0.127.

Which two statements correctly describe the behavior of the resulting outbound VXLAN packets that contain the original
packet destined to 10.0.0.127? (Choosetwo.)
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A. Router E will replicate and send a copy of the received VXLAN packet to router D.

B. Router C will send a VXLAN packet destined only to router D and router E.

C. Router D will not replicate and send a copy of the received VXLAN packet to routerE.
D. Router C will send a single VXLAN packet to one remote VTEP.

Correct Answer: AD

QUESTION 3

You have scheduled maintenance operationsfor one of the devices in your OSPF network. Referring to the exhibit,
which three statements are correct? (Choose three.)

(edit protocols ospf]
us=r@Bl% show
overload;
area 0.0.0.0 {

interface ge-0/0/0.0;
interface ge-0/0/1.0;
}

A. R1 does not participate in OSPF routing.

B. Any traffic destined for networks that terminate on R1 will still beforwarded to R1.
C. The metrics for all transit interfaces on R1 is set to the maximum value of 65,535.
D. R1 participates in OSPF routing but does not send or receive transit traffic.

E. R1 does not send or receive transit traffic during the maintenance window even if no alternative paths exist to the
given destination.

Correct Answer: BCD

QUESTION 4

Which statement is correct about IS-1S?

A. IS-IS uses areas and an autonomous system.

B. Level 1/2 routers automatically inject a default route to the nearest Level 1 router.

C. Level 2 routers must share the same area address.
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D. Level 1 routers route traffic between autonomous systems.
Correct Answer: A

Level 1/2 routers automatically inject a default route to the nearest Level 1 router. It\\'s the other way around

QUESTION 5

You aredeploying IP phones in your enterprise networks. When plugged in, the IP phones must automatically negotiate
the power requirements for the new connection with the EX Series switches. In this scenario, which protocol should be
used to enable this behavior?

A. CDP

B. MP-BGP

C. LLDP-MED

D. LLDP

Correct Answer: C
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